- MATHEMATIES )~ _

Paper-1: ngherAlgebra
Tnme Three Hours M.
Part-A (Compulsory) h:,[ TSI
w3 ) | [Marks:: 19
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2. Define principle of Mathematical Inductfen.
: TR ST Rigr o1 e fral |
3. Prove that square of an odd integer is of the form 8q + 1.
Rig T T v i @1 7 8q + 19 P & T
4. Determine if the linear Diophantine equation

12x + 18y = 30 is soluble ornot. |
T A T Y SieeTee SRR 12x+18y=30 T A1 & A1 8
Define finite and infinite continued fraction.

)
R 7 aRf faa R S aRemT <
6. Define n* convergent of a continued fraction.
faa Pl @ n T RS & TR fran|
7 Form a rational cubic equation having roots 1 and 2+ 3i.
ProTa aRi TR SR — forad e 19 2 43 #l
8. Find the number of roots of equation sin X = X graphically.
TR sin x = X B Tell BT G A P FEFI | AT B |
0. In Vedic Mathematics write name of sutra¢"If one isin ration, then
the other one is zero" which is used in selving linear equation of

two variables. :
e I ¥ IR T B F ¥ A G0 A A B M fera
R YArT < TRY B TR TNBXLEA B A AT ST B |

10. If a,p,Y, o are roots of onbiquadratic equation then write

number of items in 2, o B A4

R o, B, 1, 5 T IgE T S qA A A L o B2 v RG]

- T fera | .
PART-B(COMPULSORY)
- ART—4 (31far) -
11. Ifx, y € zsuchthat x# y show that by method of induction that

x* - y" is divisible by x -y. ¥n € N,
LR xSy &z Tx# y A IR AFRA F Rig o x* - yr G4
X -3 W59 BT Vin € N. | )

12. ggzﬁﬁg;gg?ﬁ.?: I:I:i;; a ::;;gruent to be modulo m
ha kit _ b m TR~ Y Jegdl

13. . glag :;3 oil:e positive solution of equation x?- x -2 = 0 as continued

PR ¥ Wil b il
b Mg umbers with AN, VK,

AR Ry Ay N S TR G E A2, , Wk neN g
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15.

16.(2)
®

(b

17.(3)

(b)

' gfe p, 4T SrAIS(RIEAE o

c . o
/L -,

. . . m n-1

Solve following equation if two roots are equal.

o it va 9, IR < g wEE

X*- 3x>* +4=0

UNTEIG®R-T)
Find general solution of 21x + 13y = 1791 by Eulérs method.
THAROT 21x + 13y = 1791 1 AR RS g o B3|
Prove that general integral solution of te equation x>+ y*+ 2°=1’,
(x, v, z, W)= lisgiven by Rig FRUAGBIN 2+ y*+ 2°= 0, (X, Y,
z, w) = 131 QUi & \
x =at-b2+ct-d
z = 2ad - 2bc |

'=2ab + 2cd
w=a?+ b+ ¢+ d
Or/ 3gaan

If p is r prime number, then i]%f%ve that pr<2* -1
i Rigd pr<2™ -1

1 . .
State and proye chimera remainder theorem.

mﬁamm?ﬁmaﬁaﬁ@ﬂl

Proye‘thatﬁlaﬂ -
=2+ 2
e=
3
2+

3+ Z

4+—
Assume that bn = 0, Vv n €N, then prove that the convergents
. fv the inequality ,
{Cn} satibfy ~..<C, <C, <---C< C,<C, that is,the even
C, < C, tsd -om a strictly increasing sequence while the odd
converger a strictly decreasing sequence.

m .
con\lf;fg;g"s f;on N a1 Rig a1 T AfHaRS {Cn} =1 31 I
Ifa ’<C2<C‘---< C2n<C _l<---Cs<C3<CthatiS,me

FA T Co = i e qIeAN g @ R SRS

Or
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@ Find number of roots of eq tioln | 1x| -2T = sinx using graph.
gﬁmﬁw x -2|X= sinx Bl b1 H=AT A
I D
) Write briefly about fundamental properties'of roots of algebric
equations. oI FAIHRCT & Hall B AVEHT BT qoT By | ®
UNIT-I (Ske-HI)
18.(2) If the sum of two roots of equation X* + px? + qx2 _
848 is equal to zero then show that'v? '+ p% Ep I, P+ X +5=0
| aﬁﬂWx"+ pPX +0X*+ X + s=0 %;ﬁ@mmw
¥ o g B V2 + plss(pan
®) Solve the equation. 2x* #+ 3x*+ 3x + 1= Q by cordons me thod

BT 2%° + 3K+ 3K +03= 0 BN BRT R A 57 oy |

@  Solve the following reciprocal equation |
T A GADHRO1 & B | x*- 10X + 26X2 - 10x + 1 = ¢
®) Solve@al @Y . x>+ 6Xx%- 12X +32 =0

_— e 4 ere—— .
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